

06/12/2025

Page 1 of 1

Vendor Ranking

Letting: 04250612 June 12, 2025 10:30 AM **Call Order**: 003 **Contract**: Z4149-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4364316F201 (*)

Contract Desc: PRE-EVENT EMERGENCY SIGNAL CONTRACT - EMERGENCY OPERATIONS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AUM CONSTRUCTION INC.	Responsive	Winning bid	\$7,914,000.00	100.00%
2	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Non-Winning Bid	\$7,924,000.00	100.13%
3	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$8,728,472.00	110.29%
4	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$9,270,500.00	117.14%
5	ARC ELECTRIC INC	Responsive	Non-Winning Bid	\$10,883,200.00	137.52%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 07/01/25 BEGIN TIME: 10:30 AM

END DATE: 07/08/25 END TIME: 10:30 AM





Tabulation of Bids

Page 1 of 20

Letting: 04250612 June 12, 2025 **Call Order:** 003 **Contract:** Z4149-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4364316F201 (*)

Contract Descr: PRE-EVENT EMERGENCY SIGNAL CONTRACT - EMERGENCY OPERATIONS

The purpose of this Contract is to provide Generator Installation and Refueling Operations and Traffic Signal Repair Operations pursuant to a Governor s and/or President s Declaration of a State Emergency. This Contract will be a regional contract that will include counties within District Four. The Contractor shall perform Generator Installation and Refueling Operations and Traffic Signal Repair Operations pursuant to the terms of this Contract and at the direction of the Department.

REQUIRED SUBMITTALS:

- •The Contractor shall provide a letter to the Department at the time of bid, from a surety authorized to do business in the State of Florida, verifying the Contractor is bondable in the State of Florida. For the purposes of this contract, the dollar amount is established at \$2,000,000.00.
- •Form 575-060-13 Non-collusion Declaration and Compliance with 49 CFR &29

The Contractor shall provide all labor, material, equipment and fuel required to pick up the generators from a Department specified facility, install generators at locations identified by the Department, operate and maintain generators continuously (24 hours a day, seven days a week, without interruption) during the event, and return generators to a Department specified facility including any Temporary Traffic Control (TTC), Mobilization and Demobilization costs. The Contractor shall provide all labor, material, and equipment required to complete the signal repair work described in this Contract, including any TTC, Mobilization and Demobilization costs. Traffic Signal Repair Operations may also include nighttime work as directed by the Department. All Generator Installation and Refueling Operations and Traffic Signal Repair Operations shall be in accordance with all applicable federal, state, and local laws and regulations.

This contract will be awarded based on the total amount of \$0 (zero) dollars and not the contractor s bid total. Additional funds will be added to the contract as needed.

Pre-Qualified: Contractor must be pre-qualified.

Awarded Contractor (s) must:

- •Execute contract within 5 days. The Department may award one or more contracts for this project.
- •The Contractor shall provide TTC at all times in accordance with Department Standard Plans and may include traffic control officers.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Al	ternate Quantity Units	(1) AUM CONS	TRUCTION INC.	(2) AMERICAN LIGHTING AND SIGNALIZATION, LLC.		(3) SIGNAL TECHNOLOGY AND INSTALLATION CORP.	
() indicates item is bid as Lum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount



Page 2 of 20

Florida Department of Transportation



Letting	j : 04	1250612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN I SIGNALIZA			ECHNOLOGY LATION CORP.
() indi	icates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0005	Signalization						
INSTALL	0102108 POLE, MAX 50 _ TEMPORAR CONTRACTS	Y POLE, FOR		4,000.00000	40,000.00	4,500.00000	45,000.00	1,597.00000	15,970.00
GUY WIF	0102109 RE FOR WOC URNISH AND ENT CONTRA	INSTALL, FO		1,500.00000	30,000.00	2,000.00000	40,000.00	433.00000	8,660.00
NATURA CONTRA	0129 1 1 AL DISASTER ACTS, CREW DNING: DO NO	PRE-	1.000 ED	2,500.00000	2,500.00	2,500.00000	2,500.00	2,500.00000	2,500.00
0020 CONDUI TRENCH	0630 2 11 IT, FURNISH 8 H	& INSTALL, O	100.000 PEN LF	35.00000	3,500.00	50.00000	5,000.00	35.00000	3,500.00
CONDUI	0630 2 14 IT, FURNISH 8 GROUND	& INSTALL,	50.000 LF	50.00000	2,500.00	60.00000	3,000.00	56.00000	2,800.00
RECONS	0632 7 1 CABLE- NEW STRUCTED IN H & INSTALL		50.000 PI N,	7,500.00000	375,000.00	18,000.00000	900,000.00	15,088.00000	754,400.00
SIGNAL	/REPLACE/O	ΓHER, FURNIS	5,000.000 LF SH &	50.00000	250,000.00	10.00000	50,000.00	20.00000	100,000.00
	0634 4143 /IRE ASSEMB BOX OR DRO		5.000 ELE PI	8,000.00000	40,000.00	14,000.00000	70,000.00	22,263.00000	111,315.00



Page 3 of 20

Florida Department of Transportation



Letting:	: 0425	50612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AUM CONSTRUCTION INC.			(2) AMERICAN LIGHTING AND SIGNALIZATION, LLC.		ECHNOLOGY ATION CORP.
() indic	cates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	005	Signalization						
SPAN WI	0634 4152 IRE ASSEMBLY DIAGONAL	, F&I, TWO	10.000 PI	7,000.00000	70,000.00	9,000.00000	90,000.00	10,570.00000	105,700.00
SPAN WI	0634 4153 IRE ASSEMBLY BOX OR DROP E		10.000 PI	8,000.00000	80,000.00	18,000.00000	180,000.00	12,716.00000	127,160.00
SPAN WI	0634 4154 IRE ASSEMBLY DTHER TYPE	, F&I, TWO	10.000 PI	9,000.00000	90,000.00	16,000.00000	160,000.00	9,855.00000	98,550.00
SPAN WI SINGLE F	0634 4341 IRE ASSEMBLY POINT ATTACH DICULAR		5.000 PI	5,000.00000	25,000.00	4,000.00000	20,000.00	9,180.00000	45,900.00
SPAN WI	0634 4342 IRE ASSEMBLY POINT ATTACH		5.000 PI .L	6,000.00000	30,000.00	6,000.00000	30,000.00	11,286.00000	56,430.00
SPAN WI	0634 4351 IRE ASSEMBLY TTACH, PERPE	, INSTALL, NDICULAR	5.000 TWO PI	8,000.00000	40,000.00	5,000.00000	25,000.00	9,855.00000	49,275.00
SPAN WI	0634 4352 IRE ASSEMBLY TTACH, DIAGOI		5.000 TWO PI	9,000.00000	45,000.00	7,000.00000	35,000.00	9,875.00000	49,375.00
SPAN WI	0634 4353 IRE ASSEMBLY TTACH, BOX SF		5.000 TWO PI	8,000.00000	40,000.00	10,000.00000	50,000.00	10,570.00000	52,850.00



Page 4 of 20

Florida Department of Transportation



				_
Lettina:	04250612	June 12, 2025	Call Order: 003	Contract: Z4149-R0
Lettina.	07230012	JUNE 17. 7070	Call Order. 003	Contract. Z4 143=110

Letting	g: 04	250612 J	June 12, 2025	Cal	I Order: 003		Contract:	Z4149-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN I SIGNALIZA			ECHNOLOGY ATION CORP.
	ilicates item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0005	Signalization						
0085 SPAN W	0634 4400 VIRE ASSEMBL	_Y, ADJUST	50.000 PI	2,500.00000	125,000.00	2,000.00000	100,000.00	9,387.00000	469,350.00
	0634 4600 VIRE ASSEMBI REMAIN	_Y, REMOVE-	50.000 PI	2,000.00000	100,000.00	2,000.00000	100,000.00	2,347.00000	117,350.00
0095 FIBERG INSTALI		TOR, FURN I SH	50.000 H & LF	500.00000	25,000.00	110.00000	5,500.00	599.00000	29,950.00
0100 PULL & COVER	0635 2 11 SPLICE BOX, SIZE	F&I, 13" x 24"	20.000 EA	2,000.00000	40,000.00	4,000.00000	80,000.00	2,238.00000	44,760.00
0105 JUNCTI AERIAL	0635 3 11 ON BOX, FURI	NISH & INSTAL	10.000 LL, EA	2,000.00000	20,000.00	2,000.00000	20,000.00	1,346.00000	13,460.00
OVERH	EAD METER P ACTOR FROM	SERVICE, F&I URCHASED B' POWER		8,000.00000	40,000.00	4,000.00000	20,000.00	11,064.00000	55,320.00
UNDER		SERVICE, F&I TER PURCHAS		8,000.00000	40,000.00	5,000.00000	25,000.00	11,064.00000	55,320.00
0120 ELECTF & INSTA		E WIRE, FURN	500.000 IISH LF	15.00000	7,500.00	10.00000	5,000.00	11.00000	5,500.00



Page 5 of 20

Florida Department of Transportation



Letting:	0425061	2 June	e 12, 2025	Cal	I Order: 003		Contract:	Z4149-R0	
Line No /		Iternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN SIGNALIZA			ECHNOLOGY ATION CORP.
() indicates	item is bid as Lum	ıp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0005	Sigi	nalization						
EMERGENC'	9 4 3 Y GENERATOR : TROFIT; FDOT I			4,000.00000	400,000.00	3,000.00000	300,000.00	5,476.00000	547,600.00
EMERGENC'	9 4 5 Y GENERATOR : MONITOR & REI		500.000 HR	300.00000	150,000.00	500.00000	250,000.00	775.00000	387,500.00
	9 4 7 Y GENERATOR T RETROFIT	- HARNESS	100.000 EA	3,000.00000	300,000.00	1,500.00000	150,000.00	2,493.00000	249,300.00
	1 2 12 ED CONCRETE RVICE POLE	POLE, F&I,	5.000 EA	3,500.00000	17,500.00	4,000.00000	20,000.00	2,931.00000	14,655.00
	6 111 BIGNALS POLE,	PEDESTAL	1.000 EA	3,000.00000	3,000.00	4,000.00000	4,000.00	4,118.00000	4,118.00
VEHICULAR	0 111 TRAFFIC SIGNA NSTALL ALUMIN WAY		10.000 AS	1,800.00000	18,000.00	1,500.00000	15,000.00	1,259.00000	12,590.00
VEHICULAR	O 112 TRAFFIC SIGNA NSTALL ALUMIN 4 WAY		10.000 AS	2,500.00000	25,000.00	5,000.00000	50,000.00	1,753.00000	17,530.00
VEHICULAR	0 114 TRAFFIC SIGNA NSTALL ALUMIN WAY		200.000 AS	3,000.00000	600,000.00	2,500.00000	500,000.00	4,241.00000	848,200.00



Page 6 of 20

Florida Department of Transportation



Letting:	04250612	June 12, 2025	Cal	Il Order: 003		Contract:	Z4149-R0	
Line No / Ite Item Descri		ate Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN I SIGNALIZA		(3) SIGNAL TECHNOLOGY AND INSTALLATION CORP.	
	• em is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	ΓΙΟΝ: 0005	Signalization						
	RAFFIC SIGNAL, STALL ALUMINUM,	100.000 AS	4,000.00000	400,000.00	3,000.00000	300,000.00	3,233.00000	323,300.00
FURNISH & IN	1 24 RAFFIC SIGNAL, STALL POLYCARBO 3 SECTION, 1 WAN		3,000,00000	300,000.00	2,500.00000	250,000.00	3,049.00000	304,900.00
FURNISH & IN	RAFFIC SIGNAL, STALL POLYCARBO JM TOP SECTION,		3,500.00000	175,000.00	6,000.00000	300,000.00	3,549.00000	177,450.00
FURNISH & IN	1 29 RAFFIC SIGNAL, STALL POLYCARBO ECTION CLUSTER		5,000.00000	250,000.00	3,500.00000	175,000.00	4,394.00000	219,700.00
0185 0650 VEHICULAR TE	1 50 RAFFIC SIGNAL, IN	10.000 STALL AS	2,000.00000	20,000.00	1,000.00000	10,000.00	2,347.00000	23,470.00
	1 60 RAFFIC SIGNAL, ES TO REMAIN	200.000 AS	600.00000	120,000.00	500.00000	100,000.00	470.00000	94,000.00
	RAFFIC SIGNAL, CLUDES REMOVA	100.000 AS L AND	2,000.00000	200,000.00	2,000.00000	200,000.00	2,856.00000	285,600.00





Tabulation of Bids

Page 7 of 20

Letting	g: 04	4250612	June 12, 2025	Cal	I Order: 003		Contract:	Z4149-R0	
	No / Item ID Description	Alternat	te Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN I SIGNALIZA			ECHNOLOGY ATION CORP.
() indi	licates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0005	Signalization						
	0650 180 LAR TRAFFIO /MODIFY EXI	C SIGNAL, ISTING SIGNA	100.000 AS AL	1,500.00000	150,000.00	2,500.00000	250,000.00	1,721.00000	172,100.00
REPAIR/ & INSTA	/REPLACE/RI	AUXILIARIES ETROFIT- FUF ATE- BLACK V	RNISH	1,800.00000	360,000.00	1,000.00000	200,000.00	1,201.00000	240,200.00
PEDEST		L, FURNISH & 「DOWN,1 WA		2,500.00000	12,500.00	1,500.00000	7,500.00	1,788.00000	8,940.00
		L, FURNISH & 「DOWN,2 WA		3,000.00000	15,000.00	3,000.00000	15,000.00	2,524.00000	12,620.00
PEDEST		L, REMOVE P STAL TO REM		500.00000	2,500.00	400.00000	2,000.00	313.00000	1,565.00
VEHICLE MICROV	0660 351 E DETECTION VAVE, ADJUS T EQUIPMEN	ST & MODIFY,	20.000 EA	3,500.00000	70,000.00	2,000.00000	40,000.00	2,925.00000	58,500.00
MICROV	0660 3 52 E DETECTION VAVE, ADJUS GROUND EQ	ST & MODIFY,	20.000 EA	6,000.00000	120,000.00	2,000.00000	40,000.00	3,238.00000	64,760.00
		N SYSTEM- VI BINET EQUIPI		2,500.00000	50,000.00	3,000.00000	60,000.00	2,768.00000	55,360.00



Page 8 of 20

Florida Department of Transportation



Letting	j : 04	4250612	June 12, 2025	Cal	II Order: 003		Contract:	Z4149-R0	
	No / Item ID Description	Alterna	te Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN LIGHTING AND SIGNALIZATION, LLC.		(3) SIGNAL TECHNOLOGY AND INSTALLATION CORP.	
	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0005	Signalization						
	0660 4 52 E DETECTION MODIFY ABO IENT		· ·	4,000.00000	80,000.00	3,000.00000	60,000.00	5,115.00000	102,300.00
	0665 1 11 TRIAN DETEC _, STANDARD		5.000 SH & EA	500.00000	2,500.00	1,000.00000	5,000.00	947.00000	4,735.00
	0670 4 1 ECTION CON OLLER ASSEI -			6,000.00000	60,000.00	5,000.00000	50,000.00	2,386.00000	23,860.00
	0670 5112 C CONTROLL MA, 2 PREEM		5.000 LY, AS	65,000.00000	325,000.00	60,000.00000	300,000.00	58,339.00000	291,695.00
	0670 5600 C CONTROLL E CONTROLL			2,000.00000	2,000.00	2,000.00000	2,000.00	2,504.00000	2,504.00
	0670 5700 C CONTROLL RE-MINOR RI		50.000 LY, AS	5,000.00000	250,000.00	3,000.00000	150,000.00	5,498.00000	274,900.00
0270 TRAFFIO	0671 240 CCONTROLL	ER, MODIFY	20.000 EA	6,000.00000	120,000.00	3,000.00000	60,000.00	7,063.00000	141,260.00
	0676 1500 C SIGNAL CO T, ADJUST/M		20.000 EA	6,000.00000	120,000.00	3,000.00000	60,000.00	12,538.00000	250,760.00





Tabulation of Bids

Page 9 of 20

Letting:	04	ر 4250612	June 12, 2025	Cal	I Order: 003		Contract:	Z4149-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN I SIGNALIZA			ECHNOLOGY ATION CORP.
	•	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
•	SECTION:	0005	Signalization						
CONTROL REPLACE	678 1104 LER ACCE EXISTING- LOAD SWIT	FURNISH AND	50.000 EA	600.00000	30,000.00	1,000.00000	50,000.00	359.00000	17,950.00
CONTROL REPLACE	678 1109 LER ACCE EXISTING- YPE 3 TIME	FURNISH AND	20.000 EA	1,500.00000	30,000.00	3,500.00000	70,000.00	4,650.00000	93,000.00
CONTROL REPLACE	678 1110 LER ACCE EXISTING- YPE 4 TIME	FURNISH AND	20.000 EA	2,000.00000	40,000.00	4,000.00000	80,000.00	4,650.00000	93,000.00
SIGN PAN		SH & INSTALL UP TO 12 SF	100.000 EA	2,500.00000	250,000.00	2,000.00000	200,000.00	1,109.00000	110,900.00
SIGN PAN	700 3204 IEL, FURNIS AD MOUNT,	SH & INSTALL 31-50 SF	100.000 EA	5,000.00000	500,000.00	8,000.00000	800,000.00	1,926.00000	192,600.00
	700 3501 IEL, RELOC	ATE, UP TO 12	100.000 SF EA	1,500.00000	150,000.00	2,000.00000	200,000.00	1,654.00000	165,400.00
	700 3601 IEL, REMOV	/E, UP TO 12 S	100.000 F EA	00000.008	80,000.00	600.00000	60,000.00	626,00000	62,600.00
ENHANCE AC POWE	RED, F&I G N, UP TO 1:	Y SIGN ASSEM ROUND MOUN 2 SF OF STATIO	IT,	20,000.00000	100,000.00	15,000.00000	75,000.00	12,286.00000	61,430.00





Tabulation of Bids

Page 10 of 20

Letting:	04250	612 Jun	e 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
Line No /		Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) AMERICAN L SIGNALIZA		· ,	ECHNOLOGY ATION CORP.
() indicates	s item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 000	5 Sig	nalization						
ENHANCED AC POWERE	0141121 HIGHWAY SIO ED, F&I GROU NS, UP TO 12 S	ND MOUNT,	,	22,000.00000	110,000.00	15,500.00000	77,500.00	14,294.00000	71,470.00
ENHANCED AC POWERE	0141314 HIGHWAY SIO ED, F&I OVERI 31-50 SF OF	HEAD MOUN	Γ,	18,000.00000	90,000.00	28,000.00000	140,000.00	22,241.00000	111,205.00
ENHANCED SOLAR POW	0142111 HIGHWAY SIO /ERED, F&I GF BEACON, UP T N PANELS	ROUND	5.000 Y, EA	25,000.00000	125,000.00	18,000.00000	90,000.00	15,014.00000	75,070.00
ENHANCED SOLAR POW MOUNT, W/2	0142121 HIGHWAY SIQ (ERED, F&I GF BEACONS, L BIGN PANELS	ROUND JP TO 12 SF	5.000 Y, EA	26,000.00000	130,000.00	19,000.00000	95,000.00	16,496.00000	82,480.00
	0005 Signal	ization Secti	on Totals:		\$7,914,000.00		\$7,924,000.00		\$8,728,472.00
	Coi	ntract Grand	d Totals:		\$7,914,000.00		\$7,924,000.00		8,728,472.00





Tabulation of Bids

Page 11 of 20

Letting:	0425	0612 Ju	ne 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	o / Item ID escription	Alternate	Quantity Units	(4) HORSEPOW	,	(5) ARC ELE	CTRIC INC		
() indica	ates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 00	005 Si	gnalization	_					
WOOD PO	0102108 DLE, MAX 50', F FEMPORARY F ONTRACTS ON	OLE, FOR PR		5,000.00000	50,000.00	5,000.00000	50,000.00		
GUY WIRE POLE, FUE	0102109 E FOR WOOD (RNISH AND IN: NT CONTRACT	STALL, FOR	20.000 E EA	00000.008	16,000.00	3,000.00000	60,000.00		
NATURAL CONTRAC	129 1 1 . DISASTER /PI CTS, CREW PR IING: DO NOT I	E-	1.000 ED	2,500.00000	2,500.00	2,500.00000	2,500.00		
	0630 2 11 , FURNISH & IN	NSTALL, OPEN	100.000 N LF	20.00000	2,000.00	25.00000	2,500.00		
	0630 214 , FURNISH & IN ROUND	NSTALL,	50.000 LF	35.00000	1,750.00	50.00000	2,500.00		
SIGNAL CARECONST	632 7 1 ABLE- NEW OF FRUCTED INTE & INSTALL		50.000 PI	35,000.00000	1,750,000.00	15,000.00000	750,000.00		
SIGNAL C	632 7 2 ABLE- EPLACE/OTHE	ER, FURNISH	5,000.000 LF &	100.00000	500,000.00	30.00000	150,000.00		
SPAN WIR	0634 4143 RE ASSEMBLY, DX OR DROP E		5.000 PI	10,000.00000	50,000.00	20,000.00000	100,000.00		





Tabulation of Bids

Page 12 of 20

Letting:	04250)612 J	une 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
Line No / It		Alternate	Quantity Units	(4) HORSEPOW		(5) ARC ELE	ECTRIC INC		
() indicates i	tem is bid as L	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 000)5	Signalization						
0045 0634 SPAN WIRE A POINT, DIAGO		F&I, TWO	10.000 PI	12,000.00000	120,000.00	15,000.00000	150,000.00		
0050 0634 SPAN WIRE A POINT, BOX C			10.000 PI	15,000.00000	150,000.00	15,000.00000	150,000.00		
0055 0634 SPAN WIRE A POINT, OTHER		F&I, TWO	10.000 Pl	10,000.00000	100,000.00	15,000.00000	150,000.00		
0060 0634 SPAN WIRE A SINGLE POIN PERPENDICU	SSEMBLY, I T ATTACH,	NSTALL,	5.000 PI	7,500.00000	37,500.00	20,000.00000	100,000.00		
0065 0634 SPAN WIRE A SINGLE POIN			5.000 PI	8,000.00000	40,000.00	25,000.00000	125,000.00		
0070 0634 SPAN WIRE A POINT ATTAC	SSEMBLY, I		5.000 WO PI	8,500.00000	42,500.00	20,000.00000	100,000.00		
0075 0634 SPAN WIRE A POINT ATTAC			5.000 WO PI	9,000.00000	45,000.00	20,000.00000	100,000.00		
0080 0634 SPAN WIRE A POINT ATTAC			5.000 WO PI	10,000.00000	50,000.00	20,000.00000	100,000.00		





Tabulation of Bids

Page 13 of 20

Letting: 04250612 Jun	e 12, 2025	Cal	Order: 003		Contract:	Z4149-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HORSEPOWI		(5) ARC ELE	ECTRIC INC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 Sig	nalization						
0085 0634 4400 SPAN WIRE ASSEMBLY, ADJUST	50.000 PI	5,000.00000	250,000.00	8,000.00000	400,000.00		
0090 0634 4600 SPAN WIRE ASSEMBLY, REMOVE- POLES REMAIN	50.000 PI	2,500.00000	125,000.00	3,000.00000	150,000.00		
0095 0634 5 1 FIBERGLASS INSULATOR, FURNISH & INSTALL	50.000 LF	50.00000	2,500.00	10.00000	500.00		
0100 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	20.000 EA	1,400.00000	28,000.00	2,000.00000	40,000.00		
0105 0635 3 11 JUNCTION BOX, FURNISH & INSTALL, AERIAL	10.000 EA	1,500.00000	15,000.00	2,500.00000	25,000.00		
0110 0639 1112 ELECTRICAL POWER SERVICE, F&I, OVERHEAD METER PURCHASED BY CONTRACTOR FROM POWER COMPANY	5.000 AS	15,000.00000	75,000.00	5,000.00000	25,000.00		
0115 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	5.000 AS	15,000.00000	75,000.00	5,000.00000	25,000.00		
0120 0639 2 1 ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	500.000 I LF	25.00000	12,500.00	25.00000	12,500.00		





Tabulation of Bids

Page 14 of 20

Letting:	0425	່າ 10612 Jເ	une 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	Line No / Item ID Alternate Quantity Item Description Units			(4) HORSEPOW		(5) ARC ELECTRIC INC			
() indicates	item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 00)05 S	Signalization						
0125 0639 EMERGENCY INSTALL- RE				4,000.00000	400,000.00	5,000.00000	500,000.00		
0130 0639 EMERGENCY PORTABLE, I			500.000 HR	300.00000	150,000.00	1,500.00000	750,000.00		
0135 0639 EMERGENCY FOR CABINE			100.000 SS EA	1,500.00000	150,000.00	5,000.00000	500,000.00		
0140 064° PRESTRESS TYPE P-II SE			5.000 &I, EA	6,500.00000	32,500.00	3,000.00000	15,000.00		
0145 0646 ALUMINUM S	6 111 SIGNALS PC	DLE, PEDEST	1.000 AL EA	4,500.00000	4,500.00	3,200.00000	3,200.00		
0150 0650 VEHICULAR FURNISH & II SECTION, 1 N	NSTALL ALU		10.000 AS	2,000.00000	20,000.00	3,000.00000	30,000.00		
0155 0650 VEHICULAR FURNISH & II SECTION, 2-4	NSTALL ALI		10.000 AS	2,500.00000	25,000.00	3,000.00000	30,000.00		
0160 0650 VEHICULAR FURNISH & II SECTION, 1 N	NSTALL ALI		200.000 AS	3,500.00000	700,000.00	3,500.00000	700,000.00		





Tabulation of Bids

Page 15 of 20

Letting:	04250612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
Line No / Item Desc		te Quantity Units	(4) HORSEPOW INC		(5) ARC ELE	ECTRIC INC		
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0005	Signalization						
VEHICULAR T) 118 TRAFFIC SIGNAL, NSTALL ALUMINUM, RAIGHT, 1 WAY	100.000 AS 5	4,500.00000	450,000.00	4,000.00000	400,000.00		
VEHICULAR TURNISH & II) 124 TRAFFIC SIGNAL, NSTALL POLYCARBO P, 3 SECTION, 1 WAY		3,500,00000	350,000.00	4,000.00000	400,000.00		
VEHICULAR T FURNISH & II) 125 TRAFFIC SIGNAL, NSTALL POLYCARBO NUM TOP SECTION, 3 4 WAYS		4,500.00000	225,000.00	4,200.00000	210,000.00		
VEHICULAR TURNISH & II) 129 TRAFFIC SIGNAL, NSTALL POLYCARBO SECTION CLUSTER,		5,000.00000	250,000.00	4,500.00000	225,000.00		
) 150 TRAFFIC SIGNAL, INS	10.000 STALL AS	2,500.00000	25,000.00	5,000.00000	50,000.00		
VEHICULAR ') 160 TRAFFIC SIGNAL, DLES TO REMAIN	200.000 AS	100.00000	20,000.00	2,000.00000	400,000.00		
VEHICULAR T) 170 TRAFFIC SIGNAL, INCLUDES REMOVAL TION	100.000 AS . AND	2,000.00000	200,000.00	4,000.00000	400,000.00		





Tabulation of Bids

Page 16 of 20

Letting:	042506	12 Jun	e 12, 2025	Cal	Order: 003		Contract:	Z4149-R0	
Line No /		Alternate	Quantity Units	(4) HORSEPOWING		(5) ARC ELE	CTRIC INC		
() indicates	s item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0005	Sig	gnalization						
VEHICULAR	0 180 TRAFFIC SIGN DIFY EXISTING		100.000 AS	2,500.00000	250,000.00	3,800.00000	380,000.00		
VEHICULAR REPAIR/REF	0 2102 SIGNAL AUXIL PLACE/RETROP BACKPLATE- B DRDER	FIT- FURNIS		1,500.00000	300,000.00	1,000.00000	200,000.00		
PEDESTRIA	3 111 N SIGNAL, FUR D COUNTDOWI		5.000 AS	1,500.00000	7,500.00	2,000.00000	10,000.00		
PEDESTRIA	3 1 12 N SIGNAL, FUR D COUNTDOWI		5.000 AS	2,500.00000	12,500.00	2,400.00000	12,000.00		
PEDESTRIA	3 160 N SIGNAL, REN LE/PEDESTAL		5.000 AS	50,00000	250.00	2,500.00000	12,500.00		
VEHICLE DE	0 351 TECTION SYS E, ADJUST & M QUIPMENT		20.000 EA	500.00000	10,000.00	8,000.00000	160,000.00		
VEHICLE DE	0 3 52 TECTION SYS E, ADJUST & M DUND EQUIPME	ODIFY,	20.000 EA	2,500.00000	50,000.00	10,000.00000	200,000.00		
VEHICLE DE	0 451 TECTION SYS DIFY CABINET		′	500.00000	10,000.00	8,000.00000	160,000.00		





Tabulation of Bids

Page 17 of 20

Letting	ງ : 04	250612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	Line No / Item ID Alternate Item Description		e Quantity Units		IORSEPOWER ELECTRIC, INC.		(5) ARC ELECTRIC INC		
	icates item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0005	Signalization						
	0660 452 E DETECTION MODIFY ABO IENT			3,000.00000	60,000.00	10,000.00000	200,000.00		
PEDEST	0665 1 11 FRIAN DETEC _, STANDARD	TOR, FURNIS	5.000 SH & EA	800.0000	4,000.00	1,000.00000	5,000.00		
INTERSE	0670 4 1 ECTION CONT OLLER ASSEM			5,000.00000	50,000.00	10,000.00000	100,000.00		
TRAFFIC	0670 5112 C CONTROLLE MA, 2 PREEMI		5.000 .Y, AS	60,000.00000	300,000.00	55,000.00000	275,000.00		
TRAFFIC	0670 5600 C CONTROLLE E CONTROLL			1,500.00000	1,500.00	5,000.00000	5,000.00		
TRAFFIC	0670 5700 C CONTROLLE RE-MINOR RE		50.000 Y, AS	7,500.00000	375,000.00	4,000.00000	200,000.00		
	0671 240 CCONTROLLI	ER, MODIFY	20.000 EA	5,000.00000	100,000.00	10,000.00000	200,000.00		
TRAFFIC	0676 1500 C SIGNAL COI T, ADJUST/MO		20.000 EA	5,000.00000	100,000.00	10,000.00000	200,000.00		





Tabulation of Bids

Page 18 of 20

Letting:	ر 04250612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
	/ Item ID Alternate scription	Quantity Units	(4) HORSEPOW INC		(5) ARC ELE	CTRIC INC		
() indicate	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
s	ECTION: 0005	Signalization						
CONTROLL REPLACE E	78 1104 LER ACCESSORIES, EXISTING- FURNISH AND OAD SWITCH	50.000 EA	2,000.00000	100,000.00	2,000.00000	100,000.00		
CONTROLL REPLACE E	78 1109 LER ACCESSORIES, EXISTING- FURNISH AND 'PE 3 TIME SWITCH	20.000 EA	2,000.00000	40,000.00	2,000.00000	40,000.00		
CONTROLL REPLACE E	78 1110 LER ACCESSORIES, EXISTING- FURNISH AND 'PE 4 TIME SWITCH	20.000 EA	2,500.00000	50,000.00	2,000.00000	40,000.00		
SIGN PANE	00 3201 EL, FURNISH & INSTALL D MOUNT, UP TO 12 SF	100.000 EA	2,000.00000	200,000.00	1,000.00000	100,000.00		
SIGN PANE	00 3204 EL, FURNISH & INSTALL D MOUNT, 31-50 SF	100.000 EA	3,000.00000	300,000.00	1,500.00000	150,000.00		
	00 3501 EL, RELOCATE, UP TO 12	100.000 SF EA	250.00000	25,000.00	1,500.00000	150,000.00		
	700 3601 EL, REMOVE, UP TO 12 S	100.000 F EA	100.00000	10,000.00	1,000.00000	100,000.00		
ENHANCED AC POWER	00141111 D HIGHWAY SIGN ASSEM RED, F&I GROUND MOUN I, UP TO 12 SF OF STATIO ELS	IT,	14,000.00000	70,000.00	20,000.00000	100,000.00		





Tabulation of Bids

Page 19 of 20

Letting:	04250612	June 12, 2025	Cal	l Order: 003		Contract:	Z4149-R0	
Line No / It		nte Quantity Units	(4) HORSEPOW INC	,	(5) ARC ELE	CTRIC INC		
() indicates	item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0005	Signalization						
ENHANCED H	141121 IIGHWAY SIGN ASS D, F&I GROUND MOI S, UP TO 12 SF OF S	JNT,	15,000.00000	75,000.00	20,000.00000	100,000.00		
ENHANCED H AC POWERED	141314 IIGHWAY SIGN ASS D, F&I OVERHEAD M 11-50 SF OF STATIC	IOUNT,	12,500.00000	62,500.00	20,000.00000	100,000.00		
0330 0700	142111	5.000	15,000.00000	75,000.00	20,000.00000	100,000.00		
SOLAR POWE	IIGHWAY SIGN ASS ERED, F&I GROUND EACON, UP TO 12 SI PANELS							
0335 0700	142121	5.000	18,000.00000	90,000.00	20,000.00000	100,000.00		
SOLAR POWE	IIGHWAY SIGN ASS ERED, F&I GROUND BEACONS, UP TO 1: GN PANELS	,						
	0005 Signalization	Section Totals:	1	\$9,270,500.00		\$10,883,200.00		
	Contract (Grand Totals:		\$9,270,500.00		\$10,883,200.00		



06/12/2025

Tabulation of Bids

Page 20 of 20

Letting: 04250612 June 12, 2025 **Call Order:** 003 **Contract:** Z4149-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.